

**Existence and non-existence of radially symmetric
non-negative solutions for a class of
semi-positone problems in an annulus**

D. ARCOYA – A. ZERTITI

RIASSUNTO: *Si studia il seguente problema al contorno:*

$$\begin{cases} -\Delta u(x) = \lambda f(u(x)), & R < |x| < \hat{R} \\ u(x) = 0, & |x| \in \{R, \hat{R}\} \end{cases}$$

con $\lambda > 0$, $f(0) < 0$, essendo $f : [0, +\infty)$ una funzione superlineare. Si dimostra che per λ abbastanza piccolo esistono soluzioni non negative e dotate di simmetria radiale e che invece non esistono soluzioni di questo tipo se λ è troppo grande.

ABSTRACT: *We study the boundary value problem*

$$\begin{cases} -\Delta u(x) = \lambda f(u(x)), & R < |x| < \hat{R} \\ u(x) = 0, & |x| \in \{R, \hat{R}\} \end{cases}$$

where $\lambda > 0$, $f(0) < 0$ and f is superlinear. We prove existence of a radially symmetric non-negative solution for $\lambda > 0$ sufficiently small and nonexistence of such a solution for $\lambda > 0$ large.

This paper was done while the second author was visiting the Departamento de Análisis Matemático de la Universidad de Granada. He thanks this Department for its hospitality.

KEY WORDS AND PHRASES: *Superlinear semi-positone problems – Radial positive solution*

1 – Introduction

In this paper we study the existence and non-existence of radial positive solutions of the problem

$$(1) \quad \begin{cases} -\Delta u(x) = \lambda f(u(x)), & x \in \Omega \\ u(x) = 0, & x \in \partial\Omega \end{cases}$$

where $\lambda > 0$, $f : [0, +\infty) \rightarrow \mathbb{R}$ is a continuous nonlinearity and $\Omega \subset \mathbb{R}^N$, is the annulus $\Omega = C(0, R, \hat{R}) = \{x \in \mathbb{R}^N / R < |x| < \hat{R}\}$ ($N \geq 3$, $0 < R < \hat{R}$).

In the positone case, i.e. in the case that $f(0) \geq 0$, the study of positive solutions of (1) in a bounded domain Ω has been intensively studied by many authors (see [4] and [6] for excellent surveys and the references therein). Recently, the non-positone case (i.e. $f(0) < 0$) has been considered in [1, 2, 3, 8]. In particular the first two works study the existence [2] and non-existence [1] of positive solutions of (1) when $\Omega = B(0, R)$ is the ball of radius $R > 0$ centered at zero and f is a monotone non-decreasing nonlinearity satisfying $f(0) < 0$ and $\lim_{u \rightarrow +\infty} \frac{f(u)}{u} = +\infty$ (superlinear case). Observe that, since $f(0) < 0$, the constant 0 is an upper solution of (1) and as a consequence it is not possible, in general, to apply the usual techniques (for example: the method of upper and lower solutions, the fixed point index, etc...) to prove the existence of positive solutions of (1). However, it is well known [5] that all positive solutions u of (1) for $\Omega = B(0, R)$ are radial with $\frac{\partial u}{\partial r} < 0$ in Ω ($\frac{\partial}{\partial r}$ denotes the derivative of $u(r)$ ($r = |x|$)). This permits to the authors in [2] to apply the shooting method when f satisfies suitable hypotheses. We remark explicitly that the following fact: $u(0) = \max\{u(x) / |x| \leq 1\}$ is essential in the proofs in [1, 2].

In contrast with this, in the case $\Omega = C(0, R, \hat{R})$, it is not true [5] that the positive solutions of (1) are radial. In addition, even if $u(x) = u(r)$, ($r = |x|$), is a radially positive solution of (1), we do not know what is the radius $r \in (R, \hat{R})$ in which u attains its maximum. These facts make our study more difficult and force us to apply the shooting method in a more careful way to extend the results in [1, 2] to the case in which Ω is an

annulus (and $f(0) < 0$). In concrete, if we denote by $F(u) = \int_0^u f(s)ds$, a primitive of f , we shall prove the following theorem:

THEOREM I. *Let $\Omega = C(0, R, \hat{R})$ ($0 < R < \hat{R}$) and assume:*

(f_1) *$f \in C^1([0, +\infty))$ is such that there exists $\beta > 0$ with $f|_{[0, \beta]} < 0$ and $f|_{(\beta, +\infty)} > 0$.*

(f_2) $\lim_{u \rightarrow +\infty} \frac{f(u)}{u} = +\infty$.

Then there exists $\lambda^ > 0$ such that problem (1) has not any non-negative radially symmetric solution for all $\lambda \geq \lambda^*$.*

In addition, if f satisfies also:

(f_3) *The function $h(u) = NF(u) - \frac{N-2}{2}uf(u)$ is bounded from below in $[0, +\infty)$*

(f_4) *f is strictly increasing in $(\beta, +\infty)$*

then there exists $\lambda_ > 0$ such that problem (1) has at least one positive radially symmetric solution for all $\lambda \in (0, \lambda_*)$.*

We must observe that our arguments also work in the case $\Omega = B(0, R)$, improving slightly the results in [1, 2]. In fact, in [1], moreover of imposing that f is increasing these authors need (f_1) and that

$$(2) \quad \liminf_{u \rightarrow +\infty} \frac{f(u)}{u^\alpha} > 0$$

for some $\alpha > 1$. Observe that this hypothesis (2) is more restrictive than (f_2). On the other hand, their existence result in [2] requires (f_1), (f_2), (f_4) and

$$(3) \quad \lim_{u \rightarrow +\infty} \left(\frac{u}{f(u)} \right)^{\frac{N}{2}} \left[F(ku) - \frac{N-2}{2N} uf(u) \right] = +\infty$$

for some $k \in (0, 1)$. By (f_2), it is clear that our hypothesis (f_3) is more general than (3).

The paper is organized as follows. The part of Theorem I about the existence of solutions will be proved in section 2 (see Theorem 2.4 below). The non-existence result will be given in section 3 (see Theorem 3.1 below). We reserve section 1 for some technical preliminaries.

2 – Preliminaries

The problem of the existence of positive radially symmetric solutions of (1) is equivalent to the existence of positive solutions of the problem

$$(4) \quad \begin{cases} -u''(r) - \frac{N-1}{r}u'(r) = \lambda f(u(r)), & R < r < \hat{R} \\ u(R) = u(\hat{R}) = 0 \end{cases}.$$

In our study of (4), we apply the shooting method. This technique is based in considering the initial value problem

$$(5) \quad \begin{cases} -u''(r) - \frac{N-1}{r}u'(r) = \lambda f(u(r)), & R < r \\ u(R) = 0, u'(R) = d \end{cases}$$

to show that, for a convenient $d > 0$, this admits a solution $u(\cdot) = u(\cdot, d, \lambda)$ (which depends on d and λ) such that $u > 0$ in (R, \hat{R}) and $u(\hat{R}) = 0$. So, such a solution u of (5) is also a positive solution of (4). In the sequel we suppose that the nonlinearity $f \in C^1([0, +\infty))$ is always extended to \mathbb{R} by

$$f|_{(-\infty, 0)} \equiv f(0).$$

In this section we present some technical results about the solutions of (5). These are standard in the literature. However, by definiteness of the reader, we include here the details. We begin with the following lemma which assure the existence of a unique solution $u(r, d, \lambda)$ of (5) in $[R, +\infty)$ for all $\lambda, d > 0$.

LEMMA 1.1. *Let $\lambda, d > 0$ and $f \in C^1([0, +\infty))$ a function which is bounded from below. Then problem (5) has a unique solution $u(r, d, \lambda)$ defined in $[R, +\infty)$. In addition, for every $d > 0$ there exist $M = M(d) > 0$ and $\lambda(d) > 0$ such that*

$$\max_{r \in [R, \hat{R}]} |u(r, d, \lambda)| \leq M, \quad \forall \lambda \in (0, \lambda(d))$$

PROOF. The proof of the first part of the lemma is given in two steps. First we show the existence and uniqueness of a local solution of (5), i.e, the existence of $\varepsilon = \varepsilon(d, \lambda) > 0$ such that (5) has a unique solution in $[R, R + \varepsilon]$. In the second step we prove that this unique solution can be extended to $[R, +\infty)$.

Step 1: (Local solution). Because in step 2 we need the local existence and uniqueness of solutions of the equation of (5) with more general initial conditions, we directly show the local existence and uniqueness for the problem

$$(6) \quad \begin{cases} -u''(r) - \frac{N-1}{r}u'(r) = \lambda f(u(r)), & r > R_1 \\ u(R_1) = a, u'(R_1) = b \end{cases}$$

with $R_1 \geq R$ fixed. Note that if u is a solution of (6), multiplying the equation by r^{N-1} and using the initial conditions, we obtain

$$(7) \quad u'(r) = \frac{1}{r^{N-1}} \left[R_1^{N-1}b - \lambda \int_{R_1}^r s^{N-1} f(u(s)) ds \right]$$

from which u satisfies

$$(8) \quad \begin{aligned} u(r) = & a + \frac{bR_1^{N-1}}{N-2} \left(\frac{1}{R_1^{N-2}} - \frac{1}{r^{N-2}} \right) + \\ & - \lambda \int_{R_1}^r \frac{1}{t^{N-1}} \left[\int_{R_1}^t s^{N-1} f(u(s)) ds \right] dt. \end{aligned}$$

Conversely, if u is a continuous function satisfying (8) then u is a solution of (6). Hence, in order to prove the existence and uniqueness of a solution u of (6) defined in some interval $[R_1, R_1 + \varepsilon]$, it is sufficient to show the existence of a unique fixed point of the operator T defined on $X = C([R_1, R_1 + \varepsilon], \mathbb{R})$ (the Banach space of the real continuous functions on $[R_1, R_1 + \varepsilon]$ with the uniform norm) by

$$(9) \quad \begin{aligned} (Tv)(r) = & a + \frac{bR_1^{N-1}}{N-2} \left(\frac{1}{R_1^{N-2}} - \frac{1}{r^{N-2}} \right) + \\ & - \lambda \int_{R_1}^r \frac{1}{t^{N-1}} \left[\int_{R_1}^t s^{N-1} f(u(s)) ds \right] dt, \end{aligned}$$

for all $r \in [R_1, R_1 + \varepsilon]$, and $v \in X$. To check this, let $\delta > 0$ such that $\delta > |a|$ and consider the closed ball $\bar{B}(0, \delta) = \{u \in X : \|u\| \leq \delta\}$. For all $u, v \in \bar{B}(0, \delta)$, we have:

$$(10) \quad \|Tu - Tv\| \leq \frac{\lambda}{N} \sup_{\xi \in (0, \delta]} |f'(\xi)| \varepsilon(R_1 + \varepsilon) \|u - v\|$$

and

$$(11) \quad \|Tu\| \leq |a| + \frac{|b|R_1^{N-1}}{N-2} \left(\frac{1}{R_1^{N-2}} - \frac{1}{(R_1 + \varepsilon)^{N-2}} \right) + \frac{\lambda}{N} \varepsilon(R_1 + \varepsilon) \sup_{\xi \in [0, \delta]} |f(\xi)|$$

Now, by (10) and (11), we can choose $\varepsilon = \varepsilon(\delta) > 0$ (depending on δ) sufficiently small such that T is a contraction from $\bar{B}(0, \delta)$ to $\bar{B}(0, \delta)$. Hence T has a fixed point u in $\bar{B}(0, \delta)$. The fixed point u is unique in X because we can choose δ as large as we wanted.

Step 2: Let $u(r) = u(r, d, \lambda)$ be the unique solution of (5) (we take $a = 0, b = d$ and $R_1 = R$ in (6)) and denote by $[R, R(d, \lambda))$ its maximal domain. We shall prove by contradiction that $R(d, \lambda) = +\infty$. For it, assume $R^* = R(d, \lambda) < +\infty$. Then we claim that u is bounded in $[R, R^*)$. In fact, using (8) and that f is bounded from below, we have

$$\begin{aligned} \frac{dR}{N-2} &\geq \frac{dR^{N-1}}{N-2} \left(\frac{1}{R^{N-2}} - \frac{1}{r^{N-2}} \right) \\ &= u(r) + \lambda \int_R^r \frac{1}{t^{N-1}} \left[\int_R^t s^{N-1} f(u(s)) ds \right] dt \\ &\geq u(r) + \lambda \inf_{\xi \in [0, +\infty)} f(\xi) \int_R^{R^*} \left[\frac{1}{t^{N-1}} \int_R^t s^{N-1} ds \right] dt, \end{aligned}$$

for all $r \in [R, R^*)$, and we deduce that there exists $K_1 > 0$ such that

$$u(r) \leq K_1, \quad \forall r \in [R, R^*)$$

On the other hand, using again (8) we obtain also

$$\begin{aligned}
 u(r) &\geq \frac{dR^{N-1}}{N-2} \left(\frac{1}{R^{N-2}} - \frac{1}{r^{N-2}} \right) \\
 &\quad - \lambda \max_{\xi \in [0, K_1]} f(\xi) \int_R^{R^*} \left[\frac{1}{t^{N-1}} \int_R^t s^{N-1} ds \right] dt \\
 &\geq -K_2, \quad \forall r \in [R, R^*)
 \end{aligned}$$

for convenient $K_2 > 0$. These last inequalities imply that u is bounded.

By using this and (7) and (8) we deduce that $\{u(r_n)\}$ and $\{u'(r_n)\}$ are Cauchy sequences for all sequence $\{r_n\} \subset [R, R^*)$ converging to R^* . This is equivalent to the existence of the finite limits

$$\lim_{r \rightarrow R^{*-}} u(r) = a, \quad \lim_{r \rightarrow R^{*-}} u'(r) = b.$$

Considering the initial value problem

$$(12) \quad \begin{cases} -v''(r) - \frac{N-1}{r}v'(r) = \lambda f(v(r)), & R^* < r \\ v(R^*) = a, v'(R^*) = b \end{cases}$$

and by step 1, we deduce the existence of a positive number $\varepsilon > 0$ and a solution $v(r)$ of this problem in $[R^*, R^* + \varepsilon]$.

Now, it is easy to see that

$$\tilde{u}(r) = \begin{cases} u(r), & \text{if } R \leq r < R^* \\ v(r), & \text{if } R^* \leq r \leq R^* + \varepsilon \end{cases}$$

is a solution of (5) in $[R, R^* + \varepsilon]$, an interval which contains the maximal domain $[R, R_1)$. Clearly this is a contradiction, so $R^* = +\infty$ and we have finished the proof of the existence and uniqueness of a solution $u(r, d, \lambda)$ of (5) in $[R, +\infty)$.

In order to prove the second part of the lemma we consider again the operator T defined in (9) on $X_0 = C([R, \hat{R}], \mathbb{R})$, with $R_1 = R, a = 0$ and $b = d$. Taking $M = \delta > \frac{2dR}{N-2}$ and

$$\lambda(d) = \min \left\{ \frac{M}{2M_1 \max_{\xi \in [0, M]} |f(\xi)|}, \frac{1}{M_1 \max_{\xi \in [0, M]} |f'(\xi)|} \right\}$$

with $M_1 = \int_R^{\hat{R}} \frac{1}{t^{N-1}} \{ \int_R^t s^{N-1} ds \} dt$, we deduce from (10) and (11) that T is a contraction from $\bar{B}(0, M, X_0) = \{u \in X_0 : \max_{r \in [R, \hat{R}]} |u(r)| \leq M\}$ into $\bar{B}(0, M, X_0)$. So, the unique corresponding fixed point of T , i.e., $u(r, d, \lambda)$, belongs to $\bar{B}(0, M, X_0)$ and the lemma is proved. \square

REMARK 1.2. The solution $u(\cdot, d, \lambda)$ depends continuously on (d, λ) in the sense that if $\{d_n\}$ converges to d and $\{\lambda_n\}$ to λ , then the sequence of the functions $u(\cdot, d_n, \lambda_n)$ converges uniformly to $u(\cdot, d, \lambda)$ on any bounded interval. A similar property is also true for $u'(\cdot, d, \lambda)$.

3 – Results of existence

In this section we are interested in giving sufficient conditions for the existence of positive solutions of (4). To do this, we prove the following lemmas about the behaviour of the solution $u(\cdot, d_0, \lambda)$ of (5).

LEMMA 2.1. *Assume (f_1, f_4) and let $d_0 > 0$. Then there exists $\lambda_1 = \lambda_1(d_0) > 0$ such that the unique solution $u(r, d_0, \lambda)$ of (5) satisfies*

$$u(r, d_0, \lambda) > 0, \quad \forall r \in (R, \hat{R}], \quad \forall \lambda \in (0, \lambda_1).$$

PROOF. For $\lambda > 0$ we consider the set

$$\mathcal{E} = \{r \in (R, \hat{R}) / u(\cdot) = u(\cdot, d_0, \lambda) \text{ is nondecreasing in } (R, r)\}$$

Since $u'(R) = d_0 > 0$, \mathcal{E} is nonempty and clearly bounded from above. Let $r_1 = \sup \mathcal{E}$ (which depends on λ). It may occur two cases:

1. $r_1 = \hat{R}$
2. $r_1 < \hat{R}$

In the first case, it is clear that $u(r) = u(r, d_0, \lambda) > 0$ for all $r \in (R, \hat{R}]$. In the second case, we shall also prove that $u(r, d_0, \lambda) > 0, \forall r \in (R, \hat{R}]$ for $\lambda > 0$ sufficiently small, which concludes the proof of the Lemma 2.1. In order to show it, assume that $r_1 < \hat{R}$. Then $u'(r_1) = 0$ and by (f_1) and (7), $u(r_1) > \beta$.

Hence the set

$$\mathcal{F} = \{r \in [r_1, \hat{R}] / u(t) \geq \beta \quad \forall t \in [r_1, r]\}$$

is nonempty and bounded. Take $r_2 = \sup \mathcal{F} > r_1$. The proof will be finished if we can show that, for λ sufficiently small, $r_2 = \hat{R}$. To do it, using again (f_1) and (7), we observe:

$$(13) \quad u'(r) = -\frac{\lambda}{r^{N-1}} \int_{r_1}^r t^{N-1} f(u(t)) dt < 0, \quad \forall r \in \mathcal{F} \setminus \{r_1\}$$

and

$$u(r) \leq u(r_1), \quad \forall r \in [R, r_2]$$

Therefore, by the mean value theorem and (f_4) , there exists $c \in (r_1, r_2)$ such that

$$\begin{aligned} u(r_2) &= u(r_1) + u'(c)(r_2 - r_1) \\ &\geq u(r_1) - \frac{\lambda \hat{R}}{N} f(u(r_1))(r_2 - r_1) \\ &> u(r_1) - \frac{\lambda \hat{R}}{N} f(u(r_1))(\hat{R} - R). \end{aligned}$$

If $M = M(d_0) > 0$ and $\lambda(d_0) > 0$ are given by Lemma 1.1, we have that $\beta < u(r_1) \leq M$ for all $\lambda \in (0, \lambda(d_0))$. Taking $K = K(d_0) > 0$ such that

$$f(\xi) < K(\xi - \beta), \quad \forall \xi \in (\beta, M]$$

we deduce:

$$u(r_2) > u(r_1) - \frac{\lambda K \hat{R}}{N} (\hat{R} - R)(u(r_1) - \beta), \quad \forall \lambda \in (0, \lambda(d_0)).$$

Thus, if $\lambda \in (0, \lambda_1)$ with $\lambda_1 = \min \left\{ \lambda(d_0), \frac{N}{\hat{R}(\hat{R} - R)K} \right\}$, we have

$$u(r_2) > u(r_1) - (u(r_1) - \beta) = \beta$$

which implies that $r_2 = \hat{R}$. □

Our following result concerns the asymptotic behaviour of $r_1(d, \lambda) = \text{Sup}\{r \in (R, \hat{R})/u(\cdot) = u(\cdot, d, \lambda)\}$ is nondecreasing in (R, r) .

LEMMA 2.2. *Assume (f_1, f_2, f_4) . Let $\lambda > 0$. Then*

$$(14) \quad \lim_{d \rightarrow +\infty} r_1(d, \lambda) = R$$

and

$$(15) \quad \lim_{d \rightarrow +\infty} u(r_1, d, \lambda) = +\infty$$

PROOF. We prove the first part of this lemma by contradiction. If (14) is not true, then there exist $R_0 \in (R, \hat{R})$ and a sequence $\{d_n\} \subset (0, +\infty)$ converging to infinity such that $u_n = u(\cdot, d_n, \lambda)$ satisfies

$$(16) \quad u_n(r) > 0, \quad u'_n(r) \geq 0, \quad \forall r \in (R, R_0], \quad \forall n \in \mathbb{N}$$

Let $\bar{r} = \frac{R_0 + R}{2}$. Observe that by (f_4) and (8) (with $R_1 = R, a = 0$ and $b = d_n$), the sequence $\{u_n(\bar{r})\}$ is unbounded. Passing to a subsequence of $\{d_n\}$, if it is necessary, we can suppose $\lim_{n \rightarrow +\infty} u_n(\bar{r}) = +\infty$. Consider

$$M_n = \inf \left\{ \frac{f(u_n(r))}{u_n(r)} / r \in (\bar{r}, R_0) \right\}$$

In virtue of (f_2) ,

$$\lim_{n \rightarrow +\infty} M_n = +\infty,$$

and we may take $n_0 \in \mathbb{N}$ such that

$$\lambda M_{n_0} > \mu_3$$

where μ_3 is the third eigenvalue of $-\left[\frac{d^2}{dr^2} + \frac{N-1}{r} \frac{d}{dr}\right]$ in (\bar{r}, R_0) with Dirichlet boundary conditions. Now we take a nonzero eigenfunction ϕ_3 associated to this μ_3 , i.e.,

$$\begin{cases} \phi_3''(r) + \frac{N-1}{r} \phi_3'(r) + \mu_3 \phi_3(r) = 0, & \bar{r} < r < R_0 \\ \phi_3(\bar{r}) = 0 = \phi_3(R_0) \end{cases} .$$

Since ϕ_3 has two zeros in (\bar{r}, R_0) , we deduce from the Sturm comparison theorem [7] that u_{n_0} has at least one zero in (\bar{r}, R_0) . But this is a contradiction with (16). Then (14) is true.

On the other hand, let r_2 be the same number as in the proof of Lemma 2.1 and taking into account (f_4) and (13), we deduce $u(r_1) = \max_{r \in [R, r_2]} u(r) > \beta$ and

$$\begin{aligned} 0 > u'(r) &= \frac{1}{r^{N-1}} [dR^{N-1} - \lambda \int_R^r t^{N-1} f(u(t)) dt] \\ &\geq \frac{dR^{N-1}}{\hat{R}^{N-1}} - \frac{\lambda r}{N} f(u(r_1)), \quad \forall r \in (r_1, r_2) \end{aligned}$$

from which we obtain

$$f(u(r_1)) \geq \frac{NdR^{N-1}}{\lambda \hat{R}^N}$$

and the proof of (15) is also concluded. □

LEMMA 2.3. *Assume $(f_1 - f_4)$ and let $\gamma_1 > 0$ be a positive number. Then there exists $\lambda_2 > 0$ such that*

a) *For all $\lambda \in (0, \lambda_2)$ the unique solution $u(r, d, \lambda)$ of (5) satisfies*

$$u^2(r, d, \lambda) + u'^2(r, d, \lambda) > 0, \quad \forall r \in [R, \hat{R}], \forall d \geq \gamma_1$$

b) *For all $\lambda \in (0, \lambda_2)$ there exists $d > \gamma_1$ such that $u(r, d, \lambda) < 0$ for some $r \in (R, \hat{R})$.*

PROOF. Let $\lambda, d > 0$ and consider $u(r) = u(r, d, \lambda)$ the unique solution of (5). We define the auxiliary function H on $[R, +\infty)$ by setting

$$H(r) = \frac{ru'^2(r)}{2} + \lambda r F(u(r)) + \frac{N-2}{2} u(r)u'(r), \quad \forall r \in [R, +\infty).$$

It can be proved, as in [2], the next identity of Pohozaev-type:

$$r^{N-1}H(r) = t^{N-1}H(t) + \lambda \int_t^r s^{N-1} [NF(u(s)) - \frac{N-2}{2} f(u(s))u(s)] ds$$

for all $R \leq t \leq r$. Taking $t = R$ in this identity we obtain

$$\begin{aligned}
 (17) \quad r^{N-1}H(r) &= \frac{R^N d^2}{2} + \lambda \int_R^r s^{N-1} \left[NF(u(s)) - \frac{N-2}{2} f(u(s))u(s) \right] ds \\
 &\geq \frac{R^N d^2}{2} + \lambda m \left(\frac{r^N}{N} - \frac{R^N}{N} \right) \\
 &\geq \frac{R^N \gamma_1^2}{2} + \lambda m \left(\frac{\hat{R}^N}{N} - \frac{R^N}{N} \right), \quad \forall r \in [R, \hat{R}]
 \end{aligned}$$

where m is a strictly negative number satisfying

$$NF(u) - \frac{N-2}{2} uf(u) \geq m, \quad \forall u \in \mathbb{R}$$

(remark that m exists by (f_3))

Hence there exists $\lambda_2 > 0$ such that

$$(18) \quad H(r) > 0, \quad \forall r \in [R, \hat{R}], \quad \forall d \geq \gamma_1, \quad \forall \lambda \in (0, \lambda_2)$$

As a consequence

$$u^2(r) + u'^2(r) > 0, \quad \forall r \in [R, \hat{R}], \quad \forall d \geq \gamma_1, \quad \forall \lambda \in (0, \lambda_2),$$

and we have finished the proof of part a) of this lemma.

To prove the part b) we argue by contradiction: fix $\lambda \in (0, \lambda_2)$ and let us suppose that $u(r, d, \lambda) \geq 0$, $\forall r \in [R, \hat{R}], \forall d \geq \gamma_1$. Choose $\rho > 0$ such that there exists a solution ω of

$$\omega'' + \frac{N-1}{r} \omega' + \rho \omega = 0$$

satisfying $\omega(0) = 1, \omega'(0) = 0$ and that $\frac{\hat{R}-R}{4}$ is the first zero of ω . Note that by [5], $\omega(r) \geq 0$ and $\omega'(r) < 0$ for all $r \in \left(0, \frac{\hat{R}-R}{4}\right]$. Since (f_2) is satisfied, there exists $d_0 = d_0(\lambda) > \gamma_1$ such that

$$(19) \quad \frac{f(u)}{u} \geq \frac{\rho}{\lambda}, \quad \forall u \geq d_0.$$

On the other hand, let $r_1 = r_1(d, \lambda)$ and $r_2 = r_2(d, \lambda)$ be the same numbers as in the proof of Lemma 2.1. By Lemma 2.2 we can suppose that $r_1(d, \lambda) < R + \frac{\hat{R} - R}{4} < \hat{R}$ with $u(r_1, d, \lambda) > d_0$ for all $d \geq d_0$.

Let $r \in [r_1, \hat{R}]$ such that $u'(r, d, \lambda) = 0$ ($d \geq d_0$). Observe that by (18), $H(r) = \lambda r F(u(r)) > 0$. Then, if, by (f_1) , θ denotes the unique zero of F , we obtain $u(r) > \theta$ and by (5) we have $u''(r, d, \lambda) = -\lambda f(u(r, d, \lambda)) < 0$. Thus, every critical point $r \in [r_1, \hat{R}]$ of $u(\cdot, d, \lambda)$ is a strict local maximum of this function. So, the definitions of r_1 and r_2 imply

$$(20) \quad u'(r, d, \lambda) < 0, \quad \forall r \in (r_1, \hat{R}], \quad \forall d \geq d_0$$

Define $v(r) = u(r_1)w(r - r_1)$ and observe that v satisfies

$$v''(r) + \frac{N - 1}{r - r_1}v'(r) + \rho v(r) = 0, \quad r_1 < r < r_1 + \frac{\hat{R} - R}{4}$$

with $v(r_1) = u(r_1), v'(r_1) = 0, v\left(r_1 + \frac{\hat{R} - R}{4}\right) = 0$ and

$$v(r) > 0, \quad v'(r) \leq 0, \quad \forall r \in \left(r_1, r_1 + \frac{\hat{R} - R}{4}\right).$$

Then

$$v''(r) + \frac{N - 1}{r}v'(r) + \rho v(r) \geq 0, \quad \forall r \in \left(r_1, r_1 + \frac{\hat{R} - R}{4}\right)$$

and by (19), the Sturm comparison theorem [7] implies that if $u(r) \geq d_0$, for all $r \in \left(r_1, r_1 + \frac{\hat{R} - R}{4}\right)$, then u will have a zero in $\left(r_1, r_1 + \frac{\hat{R} - R}{4}\right)$. Since this is impossible we obtain that for any $d \geq d_0$ there exists $r^* \in \left(r_1, r_1 + \frac{\hat{R} - R}{4}\right)$ satisfying $u(r^*, d, \lambda) = d_0$ (remind that $u(r_1, d, \lambda) > d_0, \forall d \geq d_0$).

Consider now the *energy* function

$$E(r, d, \lambda) = \frac{u'(r, d, \lambda)^2}{2} + \lambda F(u(r, d, \lambda)), \quad \forall r \geq R$$

By (17), (20) and the equality $H(r) = rE(r) + \frac{N-2}{2}u(r)u'(r)$ we have

$$\begin{aligned} r^N E(r, d, \lambda) &\geq r^{N-1} H(r, d, \lambda) \\ &\geq \frac{R^N d^2}{2} + \lambda m \left(\frac{\hat{R}^N}{N} - \frac{R^N}{N} \right), \quad \forall r \in [r_1, \hat{R}] \end{aligned}$$

and so there exists $d_1 = d_1(\lambda) \geq d_0$ such that

$$E(r, d, \lambda) \geq \lambda F(d_0) + \frac{2}{(\hat{R} - R)^2} d_0^2, \quad \forall r \in [r_1, \hat{R}], \quad \forall d \geq d_1.$$

Using that $E'(r) = -\frac{N-1}{r}u'(r)^2 \leq 0, \forall r \in [R, \hat{R}]$, we deduce

$$\frac{u'(r)^2}{2} \geq \frac{2d_0^2}{(\hat{R} - R)^2}, \quad \forall r \in [r^*, \hat{R}], \quad \forall d \geq d_1$$

i.e., by (20),

$$u'(r) \leq -\frac{2d_0}{(\hat{R} - R)}, \quad \forall r \in [r^*, \hat{R}], \quad \forall d \geq d_1.$$

This bound and the mean value theorem imply

$$u\left(r^* + \frac{\hat{R} - R}{2}\right) \leq u(r^*) - d_0 = 0$$

with $u'(r^* + \frac{\hat{R} - R}{2}) < 0$. This is a contradiction with the fact that u is non-negative in $[R, \hat{R}]$. Therefore, the second part of the lemma is also proved. \square

Now as a consequence of Lemmas 2.1 and 2.3, we have the following result of the existence of a positive solution of (4) and so a radial positive solution of (1).

THEOREM 2.4. *Assume $(f_1 - f_4)$. Then there exists $\lambda_* > 0$ such that problem (1) has at least one positive radially symmetric solution for all $\lambda \in (0, \lambda_*)$.*

PROOF. Let $d_0 > 0$. By Lemmas 2.1 and 2.3, there exist $\lambda^* > 0$ such that if $\lambda \in (0, \lambda^*)$ then

- i) $u(r, d, \lambda) > 0, \forall r \in (R, \hat{R}]$,
- ii) $u'^2(r, d, \lambda) + u^2(r, d, \lambda) > 0, \forall r \in [R, \hat{R}], \forall d \geq d_0$,
- iii) There exist $d_1 > d_0$ and $r \in (R, \hat{R}]$ such that $u(r, d_1, \lambda) < 0$.

Define $\mathcal{G} = \{d \geq d_0 / u(r, \bar{d}, \lambda) > 0, \forall r \in (R, \hat{R}), \forall \bar{d} \in [d_0, d]\}$. Observe that $d_0 \in \mathcal{G}$ (by i)) and so $\mathcal{G} \neq \emptyset$. In addition, by iii), \mathcal{G} is bounded from above by d_1 . Take $d^* = \sup \mathcal{G}$.

By Remark 1.2 it is clear that:

$$u(r, d^*, \lambda) \geq 0, \forall r \in [R, \hat{R}]$$

from which $d^* < d_1$ and using ii), we deduce

$$(21) \quad u(r, d^*, \lambda) > 0, \quad \forall r \in (R, \hat{R}).$$

The lemma will be proved (with $u(., d^*, \lambda)$ as a solution) if we can show that $u(\hat{R}, d^*, \lambda) = 0$. This will be done by contradiction. Assume that $u(\hat{R}, d^*, \lambda) > 0$. Then by Remark 1.2, by (21) and the fact that $u'(R, d^*, \lambda) = d^* > 0$ we have that

$$u(r, d, \lambda) > 0, \forall r \in (R, \hat{R}], \forall d \in [d^*, d^* + \delta]$$

where $\delta > 0$ is sufficiently small. Hence $d^* + \delta \in \mathcal{G}$ which is a contradiction with the definition of d^* . So $u(\hat{R}, d^*, \lambda) = 0$ and the proof is finished. \square

4 – Results of non-existence

In this section we give sufficient conditions to assure the non-existence of non-negative radially symmetric solution of (1), for $\lambda > 0$ sufficiently greater. Our main result is the following:

THEOREM 3.1. *Assume (f_1, f_2) . Then there exists $\lambda^* > 0$ such that (1) has no non-negative radially symmetric solution for all $\lambda \geq \lambda^*$.*

In order to prove Theorem 3.1, we observe that it is equivalent to show the non-existence of non-negative solutions for (4) where $\lambda > 0$ is sufficiently greater. We shall need some previous lemmas. Denote by $u_\lambda(r)$ a non-negative solution of (4) (if there exists) and let $R_0 = \frac{R + \hat{R}}{2}$.

LEMMA 3.2. *Let $f \in C^1([0, +\infty))$ satisfying (f₂) and consider $\lambda > 2$. If $u_\lambda(r)$ is a non-negative solution of (4), then for every $r \in (R_0, \hat{R}]$ there exists a positive number $M = M(r) > 0$ (which is independent on $\lambda > 2$) such that*

$$u_\lambda(r) \leq M.$$

PROOF. Let ϕ_1 be a positive eigenfunction associated to the first eigenvalue $\mu_1 > 0$ of the eigenvalue problem

$$\begin{cases} -(r^{N-1}v')' = \mu r^{N-1}v, & R < r < \hat{R} \\ v(R) = v(\hat{R}) = 0 \end{cases} .$$

Multiplying the equation in (4) by $r^{N-1}\phi_1(r)$ and integrating from R to \hat{R} , we obtain

$$\begin{aligned} (22) \quad \int_R^{\hat{R}} r^{N-1}u'_\lambda(r)\phi'_1(r)dr &= - \int_R^{\hat{R}} (r^{N-1}u'_\lambda(r))'\phi_1(r)dr \\ &= \lambda \int_R^{\hat{R}} r^{N-1}f(u_\lambda(r))\phi_1(r)dr . \end{aligned}$$

On the other hand, multiplying the equation $-(r^{N-1}\phi'_1(r))' = \mu_1 r^{N-1}\phi_1(r)$, ($R < r < \hat{R}$) by u_λ and integrating from R to \hat{R} again, we obtain

$$\begin{aligned} \int_R^{\hat{R}} r^{N-1}u'_\lambda(r)\phi'_1(r)dr &= - \int_R^{\hat{R}} (r^{N-1}\phi'_1(r))'u_\lambda(r)dr \\ &= \mu_1 \int_R^{\hat{R}} r^{N-1}\phi_1(r)u_\lambda(r)dr . \end{aligned}$$

Now, combining this with (22) and choosing $\mu > \frac{\mu_1}{2}, c > 0$ such that

$$f(\xi) \geq \mu\xi - c, \quad \forall \xi \geq 0$$

(remind that f is superlinear), we deduce

$$\begin{aligned} \mu_1 \int_R^{\hat{R}} r^{N-1} \phi_1(r) u_\lambda(r) dr &= \lambda \int_R^{\hat{R}} r^{N-1} f(u_\lambda(r)) \phi_1(r) dr \\ &\geq \lambda \mu \int_R^{\hat{R}} r^{N-1} u_\lambda(r) \phi_1(r) dr - \lambda c \int_R^{\hat{R}} r^{N-1} \phi_1(r) dr \end{aligned}$$

from which

$$\int_R^{\hat{R}} r^{N-1} u_\lambda(r) \phi_1(r) dr \leq \frac{\lambda k}{\lambda \mu - \mu_1} \leq \frac{k}{\mu - \frac{\mu_1}{2}} \equiv A, \quad \forall \lambda > 2$$

with $k = c \int_R^{\hat{R}} r^{N-1} \phi_1(r) dr > 0$ and $A > 0$ independent on $\lambda > 2$.

Now, taking an arbitrary $r \in (R_0, \hat{R}]$ and choosing $\delta > 0$ such that $R_0 < r - \delta$, the fact that $u_\lambda(r)$ is nonincreasing in (R_0, \hat{R}) (see [5]) implies

$$\begin{aligned} u_\lambda(r) &\leq \frac{\int_{r-\delta}^r t^{N-1} u_\lambda(t) \phi_1(t) dt}{\int_{r-\delta}^r t^{N-1} \phi_1(t) dt} \\ &\leq \frac{\int_R^{\hat{R}} t^{N-1} u_\lambda(t) \phi_1(t) dt}{\int_{r-\delta}^r t^{N-1} \phi_1(t) dt} \\ &\leq \frac{A}{\int_{r-\delta}^r t^{N-1} \phi_1(t) dt} \equiv M, \quad \forall \lambda > 2 \end{aligned}$$

and the proof is concluded. □

LEMMA 3.3. *Assume (f_1, f_2) and let $R_1 \in (R_0, \hat{R}]$, $c \in (\beta, \theta)$, where θ denotes the unique zero of the primitive F of f (by (f_1)). Then there exists $\lambda_1 > 0$ such that for all non-negative solution u_λ of (4) with $\lambda \geq \lambda_1$, there is $t_1 = t_1(\lambda) \in (R_0, R_1]$ satisfying $u_\lambda(t_1) < c$.*

PROOF. We argue by contradiction. Suppose that there exists a sequence $\{\lambda_n\} \subset (0, +\infty)$ converging to $+\infty$ such that

$$u_{\lambda_n}(r) \geq c, \quad \forall r \in (R_0, R_1], \quad \forall n \in \mathbb{N}.$$

Consider

$$\bar{t}_n = \text{Max}\{r \in (R, \hat{R}) : u'_{\lambda_n}(r) = 0\}.$$

By [5], $\bar{t}_n \leq R_0$ and u_{λ_n} is decreasing in (\bar{t}_n, \hat{R}) . Using (7) (with $R_1 = R$, $a = 0$ and $b = d$) and the fact that $u'_{\lambda_n}(\bar{t}_n) = 0$, we deduce

$$\begin{aligned}
 (23) \quad u'_{\lambda_n}(r) &= -\frac{\lambda_n}{r^{N-1}} \int_{\bar{t}_n}^r s^{N-1} f(u_{\lambda_n}(s)) ds \\
 &\leq -\frac{\lambda_n}{r^{N-1}} m \int_{\bar{t}_n}^r s^{N-1} ds \\
 &\leq -\frac{\lambda_n}{r^{N-1}} m \int_{R_0}^r s^{N-1} ds \\
 &= -\frac{\lambda_n}{r^{N-1}} m \left[\frac{r^N}{N} - \frac{R_0^N}{N} \right], \quad \forall n \in \mathbb{N}, \quad \forall r \in (R_0, R_1]
 \end{aligned}$$

where

$$m = \min\{f(\xi) / \xi \geq c\} > 0.$$

Let $r_1, r_2 \in (R_0, R_1]$ be such that $R_0 < r_1 < r_2 \leq R_1$. By the mean value theorem, there exists $s_n = s(\lambda_n) \in (r_1, r_2)$ satisfying

$$u_{\lambda_n}(r_2) = u_{\lambda_n}(r_1) + u'_{\lambda_n}(s_n)(r_2 - r_1).$$

Observe that by Lemma 3.2 the first summand in the last equality satisfies

$$u_{\lambda_n}(r_1) \leq M, \quad \forall n \in \mathbb{N}$$

for some $M = M(r_1) > 0$. In addition, by (23), the second summand tends to $-\infty$. Hence we deduce

$$\lim_{n \rightarrow +\infty} u_{\lambda_n}(r_2) = -\infty$$

which clearly is a contradiction with $u_{\lambda_n} \geq 0, \forall n \in \mathbb{N}$. Then Lemma 3.3 is proved. □

LEMMA 3.4. *Assume (f_1) . Let $R_2 \in (R_0, \hat{R}]$ and $\bar{c} > 1$. Then there exists $\lambda_2 > 0$ such that every non-negative solution u_λ of (4) with $\lambda \geq \lambda_2$ satisfies*

$$\frac{\beta}{\bar{c}} \in u_\lambda([R_2, \hat{R}]).$$

PROOF. If $u = u_\lambda$ is a non-negative solution of (4), we denote by

$$b_\lambda = \max\{r \in (R, \hat{R}) / u(r) = \frac{\beta}{c}\}.$$

The lemma will be proved if we can show

$$(24) \quad \lim_{\lambda \rightarrow +\infty} b_\lambda = \hat{R}.$$

To do it, we multiply the equation in (4) by r^{N-1} , integrate it from b_λ to \hat{R} and use that

$$u(r) < \frac{\beta}{c}, \quad \forall r \in (b_\lambda, \hat{R}]$$

to deduce:

$$\begin{aligned} \int_{b_\lambda}^{\hat{R}} (r^{N-1}u'(r))' dr &= - \int_{b_\lambda}^{\hat{R}} \lambda r^{N-1} f(u(r)) dr \\ &\geq \int_{b_\lambda}^{\hat{R}} \lambda r^{N-1} K dr \end{aligned}$$

where

$$K = - \max\{f(\xi) / \xi \in [0, \beta]\} > 0$$

Hence

$$(25) \quad \hat{R}^{N-1}u'(\hat{R}) - b_\lambda^{N-1}u'(b_\lambda) \geq \frac{\lambda}{N}K(\hat{R}^N - b_\lambda^N) > 0$$

On the other hand, multiplying now the same equation by $r^{2(N-1)}u'(r)$ and integrating from b_λ to \hat{R} , we have

$$\begin{aligned} - \int_{b_\lambda}^{\hat{R}} [u''(r)u'(r)r^{2(N-1)} - (N-1)r^{2N-3}u'(r)^2] dr &= \\ = \lambda \int_{b_\lambda}^{\hat{R}} f(u(r))r^{2(N-1)}u'(r) dr. \end{aligned}$$

That is

$$- \int_{b_\lambda}^{\hat{R}} [r^{N-1}u'(r)]'u'(r)r^{N-1} dr = \lambda \int_{b_\lambda}^{\hat{R}} [F(u(r))]r^{2(N-1)} dr$$

Computing the two integrals by parts, we obtain

$$\begin{aligned} \frac{1}{2}[b_\lambda^{2(N-1)}u'(b_\lambda)^2 - \hat{R}^{2(N-1)}u'(\hat{R})^2] &= -\lambda b_\lambda^{2(N-1)}F\left(\frac{\beta}{\bar{c}}\right) \\ &\quad - 2(N-1)\lambda \int_{b_\lambda}^{\hat{R}} F(u(r))r^{2N-3}dr \end{aligned}$$

Since $u(r) < \frac{\beta}{\bar{c}}, \forall r \in (b_\lambda, \hat{R}]$ and F is decreasing in $(0, \beta)$ by (f_1) , we deduce

$$\begin{aligned} \frac{1}{2}[b_\lambda^{2(N-1)}u'(b_\lambda)^2 - \hat{R}^{2(N-1)}u'(\hat{R})^2] &\leq -\lambda b_\lambda^{2(N-1)}F\left(\frac{\beta}{\bar{c}}\right) \\ &\quad - 2(N-1)F\left(\frac{\beta}{\bar{c}}\right)\lambda \int_{b_\lambda}^{\hat{R}} r^{2N-3}dr \\ &= -\lambda \hat{R}^{2(N-1)}F\left(\frac{\beta}{\bar{c}}\right) \end{aligned}$$

Observe that (25) implies that the left hand of this inequality is positive (because $u'(b_\lambda) \leq 0$ by the definition of b_λ and $u'(\hat{R}) \leq 0$ by [5]). Consequently we can take square roots:

$$\frac{1}{\sqrt{2}}\sqrt{[b_\lambda^{N-1}u'(b_\lambda)]^2 - [\hat{R}^{N-1}u'(\hat{R})]^2} \leq \hat{R}^{N-1}\sqrt{-\lambda F\left(\frac{\beta}{\bar{c}}\right)}$$

and using that $A - B \leq \sqrt{A^2 - B^2}, \forall A \geq B \geq 0$ we get

$$\frac{1}{\sqrt{2}}[|b_\lambda^{N-1}u'(b_\lambda)| - |\hat{R}^{N-1}u'(\hat{R})|] \leq \hat{R}^{N-1}\sqrt{-\lambda F\left(\frac{\beta}{\bar{c}}\right)}$$

which, by (25) again, implies

$$\frac{\lambda}{N\sqrt{2}}K(\hat{R}^N - b_\lambda^N) \leq \hat{R}^{N-1}\sqrt{-\lambda F\left(\frac{\beta}{\bar{c}}\right)}$$

i.e.,

$$-\frac{1}{N\sqrt{2}}K\frac{1}{\sqrt{-F\left(\frac{\beta}{\bar{c}}\right)}}\sqrt{\lambda}(\hat{R}^N - b_\lambda^N) \leq \hat{R}^{N-1}$$

and as a consequence (24) is satisfied. So the proof is finished. \square

PROOF OF THEOREM 3.1: Let us consider $c \in (\beta, \theta), \bar{c} > 1$ and $R_1, R_2 \in (R_0, \hat{R})$ such that $R_1 < R_2$. Let $\lambda_1, \lambda_2 > 0$ be given, respectively, by Lemmas 3.3 and 3.4. Take $\mu = \left(\frac{\beta}{\bar{c}} + c\right)(R_2 - R_1)^{-1}$ and choose

$$\lambda^* \geq \max\{\lambda_1, \lambda_2\}$$

such that

$$\lambda^* M + \frac{\mu^2}{2} < 0$$

where

$$M = \max\left\{F(\xi) : \frac{\beta}{\bar{c}} \leq \xi \leq c\right\} < 0.$$

We claim that (4) has no non-negative solutions for $\lambda \geq \lambda^*$. Otherwise there exists $\lambda \geq \lambda^*$ such that (4) has at least one non-negative solution u_λ . Since $\lambda \geq \lambda_i, i = 1, 2$, we deduce from Lemmas 3.3 and 3.4 the existence of $t_1 = t_1(\lambda) \in (R_0, R_1]$ and $t_2 = t_2(\lambda) \in [R_2, \hat{R}]$ satisfying $u_\lambda(t_1) < c$ and $u_\lambda(t_2) = \frac{\beta}{\bar{c}}$. Then, by the mean value theorem there is $t_3 = t_3(\lambda) \in (t_1, t_2)$ such that

$$u_\lambda(t_2) - u_\lambda(t_1) = u'_\lambda(t_3)(t_2 - t_1).$$

Hence

$$(26) \quad |u'_\lambda(t_3)| = \frac{|u_\lambda(t_2) - u_\lambda(t_1)|}{t_2 - t_1} \leq \mu$$

On the other hand, by [5], u_λ is strictly decreasing in $[R_0, \hat{R})$. Then

$$(27) \quad u_\lambda(t_3) \in \left[\frac{\beta}{\bar{c}}, c\right].$$

The expressions (26) and (27) imply that the energy function $E(r) = \lambda F(u_\lambda(r)) + \frac{u'_\lambda(r)^2}{2}$ (considered in the proof of Lemma 2.3) satisfies

$$E(t_3) \leq \lambda M + \frac{\mu^2}{2} \leq \lambda^* M + \frac{\mu^2}{2} < 0$$

But this is impossible because E is a nonincreasing function (remind that $E'(r) = -\frac{N-1}{r}u'(r)^2 \leq 0$) with $E(\hat{R}) = \frac{u'(\hat{R})^2}{2} \geq 0$. Therefore the claim is true. \square

REFERENCES

- [1] K.J. BROWN – A. CASTRO – R. SHIVAJI: *Non-existence of radially symmetric non-negative solutions for a class of semi-positone problems*, Diff. and Int. Equations, **2** (1989), 541-545.
- [2] A. CASTRO – R. SHIVAJI: *Non-negative solutions for a class of radially symmetric non-positone problems*, Proc. Amer. Math. Soc., **106**, n.3 (1989), 735-740.
- [3] P. CLEMENT – G. SWEERS: *Existence and multiplicity results for a semilinear elliptic eigenvalue problem*, Ann. Scuola Norm. Sup. Pisa (4), **14** (1987), 97-121.
- [4] D.G. DE FIGUEIREDO: *Positive solutions of semilinear elliptic problems*, Proc. of the first latin american school of differential equations, Lectures Notes n. 957 (1982), 34-87.
- [5] B. GIDAS – W.M. NI – L. NIRENBERG: *Symmetry and related properties via the maximum principle*, Commun. Math Phys., **68** (1979), 209-243.
- [6] P.L. LIONS: *On the existence of positive solutions of semilinear equations*, SIAM Review, Vol. 24, n.4 (1982), 441-467.
- [7] P. HARTMAN: *Ordinary Differential equations*, Baltimore, 1973.
- [8] J. SMOLLER – A. WASSERMAN: *Existence of positive solutions for semilinear elliptic equations in general domains*, Arch. Rat. Mech., **98** (1987), 229-249

*Lavoro pervenuto alla redazione il 14 dicembre 1993
ed accettato per la pubblicazione il 2 marzo 1994*

INDIRIZZO DEGLI AUTORI:

D. Arcoya – Departamento de Análisis Matemático – Universidad de Granada – 18071 Granada, Spain

A. Zertiti – Université Abdelmalek Essaadi – Faculté des Sciences – Département de Mathématiques – BP2121 Tetouan, Maroc